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Roman shipbuilding and navigation (Q1-13) (1 |era AlCH
[ |shipbuilding el ] |consist of ~2 T[T}
[ |navigation atsll, 2¢t [ |component 24 55
[ |be based on ~0 7|8FSHC} [J |systematic A QI =20l
[J |sophisticated Fugh [J |[dramatically 8o 2
[ |ancient i el [J |shorten =0|Ct
1 |rely on O|E3tCt [J |construction rag-!
[] [estimation 7 1 [unequal =850
[ [inherit ARt Se{Eot [J [technology 7=
[J |technique 7= [J [warship Mg 28
[J |personal 7 Q1A 2l [J [merchant 0l
[J |experience 4 ] |be able to ~= 2 = AL}
[ |traditionally HEHo= [ |coast Sif
[ |sailor M, BIALE ] [have to ~S}{ O S}
[J |conquer YESIC} [ [lightweight 7HH 2
[ |namely Z, CHAl 29 [J [speedy =
[ |Greek dz|AQl ] |ballast (MEE0]) HHEE
[ |survive A ESHCt [ |excess ZErE, ot XLt
[ |written document =M 1 [load o, ®ol &
[ |description A} [ |narrow e
[ |representation 2AL CiE, T, 29 [ |naval S = 2|
[ |including ZoShE [ |oar -5, o
[ |sail 2SS} ] [timber ==, S, QE&
[ Jrigging Z X8, 5 [ | pierce ENN e
[ |excavate 2= 5tot [ |cripple =72 S}
[J |vessel Mt i [ |damage &3ff, =4A7|Ct
[J |provide M-S SkE} O [bronze 35
[ [clue A0r2|, T [] |battering ram 58 UK
7 |hull M| [1|enemy X
[1 |proceed with ~2 7|5t [J |eventually ANFo =z
1 |frame =, B CH [ [control over ~0f| Ciot SH|
[ [used to Q| =5C} AR E|CH [J [human power L=, o
1 [plank 2|, FE &5 [J [dominant FMIS
[ |outer HFZ Q| [ [uncomfortable =Hot
[ |initially XI|FO R [J |position 2%
[1|sewn sew (HIOHCH S| ZFAHEZAL | O |rower HIALS
] |lock L O |top o SCH7|
[ |whereby Q@A 25to)~St= [ |middle 7H24|
[ |tenon e O [lower Oty
[ |mortise e ] |enrol SEoct
[ |method 2 [ |citizen Algl
] [fixed Y= O [trireme &4
[ |stitching H =% [ |perception S ARSIPN
[ |current oMo, =F [J |at a cost ~o| H o=
[ |supersede CH A SHCH [ [transport 0|&, 2&5trt
[ |popular Q17| A= [ |cargo 3=
[] |contrary to ~0fl By [ |distance e
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[J |close to ~0 P72 ] |along ~0f kM

[ [ram e, =0[2fCt [ [rely on O| =St

[J |made of ~2 LSO X|C} [J [such as ~NE

[ [additional FItH 0l [ [compass LEE gt

] [lack FZot [ [practice MOt ASSHCt
[ |be designed ~Ste & K| 2| C [ |local N

[J |reasonable erel & ol [J [knowledge K| A

[J |unlike ~Q Ee| [J |observation 2HEr

[J |double T Hi, FHiQ [J [natural XA 0l

[] [interior tZo [1 [phenomena o1&

[ |stability o [ |in conditions of ~o| ZHo=

[J |meaning that ~= o|0JotC} O |visibility 7tAE, =0 2 2
[ |deep #e [ |facilitate Z0|5HA StCt

[ |usually dutxo=z [ |in sight A|OF QOf

[J |locate Q| K| SHC} 1 [island o

] |stern (Mekel) Mo ] |mainland W&

[ [connect to ~0f ¢S} [J [succession A%

[ |mast =CH [J [recognisable AOLE = U=

[J |coordinate Z A pl5ke}, ST} O |call ~2td 2EC}

[J |in order to ~517| Q5 M [ [relative to ~0j 25+

[ |assist =Lt [J [note Z==5tC}

[ |keep time with ~QF A|ZHE GhCt O |pole =, "7l 7l

[J |instrument 7|7, 27| [ [swell Lt 2EC}

[J |so that d2fM ~StCt ] [overall FEHE 0l

[ |triangular R [ |estimate S ilial

] [task AE 1 |direction =

[ [both =Ct [ [resemble S CF

[ |bow 804 2| ] |bring A from B AS BEHH 7MLt
[ |agricultural R kahd [ |cross ALt

[J |raw material A, A= (] [regularly TAHCE FHIIHo=z
[ |products WAE O |skilled = E

[J |grain = [ |craftsmen S0 7}

[ |during ~St= =0t [ [tenon e

[] |standard HE, I|1E ] |involve el ey

[1 [inhabitant ol [1 |dominate X[ SHEL
[1|goods HE [ |army = Cf

] |all over the world ™ MA 2N [ |attack =4

[1|gigantic Lot 1 [lay L}, FCt

1 |port o O |far EEAS

] |situate SICt, RIX|A|7|C} ] [steer Z 55t

[J [mouth of river Z 5t 1 [rudder 7|, Y2t

[ |intercept S St ] [tiller 7|19 0|, BEAL 55
[J|a number of F0h ®E (] [both A and B ARt B 2 &

[ [towboat ol 214, 1= HY [1|at the same time S A0

[ |drag =Lt [1]in and out otmoz

1 |quay B MH [J |ensure 2SIt

] |approach o, "Iokot [J |quantity 2
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be pulled
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shore
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route

= |
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Climate change reveals ancient artefacts ... (Q14-26) O |glacial 21351 9|
1 |field Hof [ |race B35t g7dstt
[ |climate change 7| 2 H} O |newly MEZ
[ |reveal LFEFLHCF [ |reveal ELHCt
[] [ancient i ol [ |fragile 5=t dAMst F oot
[ |artefact lS= [ |be windblown HH2Hol| =2
[ |glacier Rl ] |remain O ALt
[ |above ~2[0] [ |attract SO0|E ECt
[ |treeline == oA [ |trader 29t
[J |mountain A O [primarily F=2
[ [shrink 2X2 &0} O [expose C=sict
[ [warm [H= SH K| T [ [survey A2, 2250t
1 |as ~S}7| M Z20]|, ~2 XM [ | patches =2zt
[ |vanish 2101 X| CF [J |congregate 20|Ct
[ |give up I 7|5tCt [ |reindeer o=
[ |treasure 2= Hset A [ |escape SHE5H0t
[ |preserve HESiCt O |biting F=
[ |storage ME O |insect =5
[ |for the last ~ X ~5 0t [ |in addition A EH2t
[ |such ~E2 [ |trade routes F9 2E
[ [arrow ol e H [ |thread through ~8 FH|Ct
(1 |provide M| S5t [ |linking A4
[0 |archaeologist nink-IoN [ |settlement PSES]
[ |surprising SEf [ |destroy I} 2| ShCt
[ [insight into ~0f Ciot S&H O [base A E
[ |living A, e [J |movement =5
[J |organic material 77| [ |steady YA 0l
[ |textile = [J |focus on M dsict
7 | hide =7|Ct [ |stationary =
[ |relatively HoXHo=z [ [bedrock 7|t
[ |rare EZ ] [beneath OF2fi o]
[ |finds gdH= [ |be buried =5|C}
[ |at site R [J |boulders Ht ¢
[ |this is because Ol= ~0|7| jZ0|ct O [amid Zh2 o
[ |unless ~SLX| gb= ot [ |hiking st
[J [protect from ~22H B350} O |equipment |
[J |microorganism O4= [ |camp @S
] [decay SOy StCt O |permafrost AL SES
] [tend not to ~SIX| @b 40| UL ] [rewarding HEJE, 24
[ [last long Qe 7tk O [rescue TESICt
[] |extreme oot St [ |melt =Lt
[ |reliable e = U= [ [connect with ~Q 1S}
] [degradation H| St O |unique =5t
[J [thaw out Sl S SHCL [ |environmental I PEES RS
[] |attention 24, 20| [ |discover 2 A4S}
[ [swiftly A£G, e O [be interested in ~0f =0|7t AL}
[ |around the world M NAXC = ] [link with ~Qt o1
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[ [environment =4 [ [make up O| &L}, BH=Ct
[ |at the edges of ~o E0| M, ZFEXIE|M A | O [depend on O|E3tCt

[J [contract A ot [ [losses =4

[ |beginnings x| [ |think of ~= ‘d251Ct

] [form o d5tet [J |although H & ~YX[2te
[J |renaissance 2| dA [ |recent %29

[ [be associated with ~QF AZHE|C} O [expand St SHCt

[ |discard H 2|t O [travel of 2, of AStCt
[J |rather than ~E L} Xpete| [J [overland X| &9

[] [traverse 7t2X|2C}, 2/ TS} [J [booming A%t 54595 dHS=
[] |all-purpose ZEEH [J [demand F=82, 27(5t0h
[ |all the way 'place’ A 7= 2 [ |hides 7k

[ |international trade =M £ [ |growth a8

[ |up to ~THX| [ |antler (At52l) &

[ |produce A AFSHCH [ |as well as w3k OfL|2}

[J |indicate K| A|SHE} [J [hunter AT

] |active 2™l [J |along with ~Qt 87| ==0tEH7HX| 2
[ [sign Mz [ [expansion 2y

[ |according to ~0f| h2tA [J |must have been ~ ~R O OF RHC}

[ |timing Eto| Y [ |a lot of e

[ |daunting #Ht, =50| 7 St= [ [probably OfOtE

[] [terrain dE ] |prehistory M AFAICH

[ |in periods of ~9| 7| Ztoto| [ |remote Q|

[ |block KHEFSEE} ] [look at ~= B}

O |upper 2|9 O |in face s

] [stick to ~2 15t} [J [notice = X|5tCt

] |elevation ST [ |gap X1o|

[J |assume 7+ 85tk [ [almost 79|

[J |a short period of B2 7|7t otof [ [researcher AR}

[ |regularly H7|Mo=z [ |disintegrate S M| | T

[J |venture into ~= A5} ] [be frozen 2|t

7 {turn out ~0| E|C} [J |extract F=5tCt

[J |based on ~0f| 7|8tot ] |in years to come Chote & otof
[J |lamount et ] |leave behind ~E H7ICH ATt
[1 |apparently =X} 5L [ |weapon and

[ |drop GojEe|Ct [] [explanation M

[ |remarkably e [ |reference e

] [continue H & SHC} [ |physical difficulty MAHHE (E2[H) o2
1 |supplement 25 [ |available 0| 87t53%t

[ |increase S 715kC} [ |possibility 7tsd

[ |perhaps ofOt: [J |pressure under o et

[ |suggest M| oSt [ |archaeological el gl

[ [harvest T2 F=2F [ [textile A=

] [in times of ~9| A|ZtOf ] |discover 2 45}

[ |widespread 22| T, 22| HX|C} [ |protection B

L] |crop SAE [ |decay =S}t

[ [failure A i [ |fragile F|ofot
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be the case

J1243}Ct

be not the case

JEX| BCE

radiocarbon

YAHY Bt

dating EL R
recover 2| 55tCt

in the past 2t 0f|

gather 2orct

avoid o[ StCt

be of interest S0l A=A

be limited to ~Of Aot Cf
equipment 2|

periods of ~9| 7|7t
unreliable 22 = Qe
certain 2ot EE2810|
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Plant 'thermometer' triggers springtime ... (Q27-40) | [ [stimulate A= 3tCt

[J |thermometer 27 [J |molecular = XAFO|

[ [trigger 2ot HEA|Z|CH [ |compare H| mS}CH

[ |springtime =5 [ |responsive 52 235t=
[ |growth S [ |bud Gl

[J |measure F7g5ich 54, YH [J |coming year CHtees HE
[ |night-time 2t [ |react 235tk

] [heat o cAHA HECH O |for the first time Moz

[J |photoreceptor Chn-d O |pinpoint g=ts| ZorLct
] [molecule 2Xt 1 [long to ~St7| & AYSIC}
1 |plant cell AME ME [ |at the end of ~2| 0]

[ |allow S{E{SHC} [ |due to ~S17| I =0

[] |seasonal A-EEQl AFHo| e [ lunpredictable o5 = gle
[] |temperature 2k [ [set to Al ZFSHE}

[ |discovery EXa [ |sensing aXx|

[ |scientist FUCIoNS [J |wheat 2

[ |breed Ar=StCt, M7 S FC [ |achieve Rl

[ |rope HE, JOt O |threat ah=

[ |resilient 58 U= ] |yields 2t

[ |temperature 25 [ |agricultural S Al

[ |expect Of| &} StCt, 7| CHSECE ] |estimate EP !

[ |result from ~0| #lo|C} ] |internal Lj 22

[ |climate change 7|2 3} [ |sensitive a2iA el of Blot
[] |international =X % 2l (] [thermal g 9|

[ |carry out O|HSIL}, +=H 5L} [ |reduce ZtABiCt

[ [enable 7FSSHA| StCt 1 {laboratory A

[ |develop LHA|7|Ct [ |allow S{EfSHE}

[ |according to ~0f =X O |potential A 2l

[] |reveal L= [ |accelerate 7+ 5t}

[ |called ~2fd 22| R = [ |active status 2 o ER

1 |actually N ERNRE [] |inactive status H2Hd A El

[ |function 7l [ [spend time AlZbE ELYCE
[ |darkness o= (] [revert &| =0t 7Lt

[ |cellular ] [ [restrict X otSHE}

[ |gauge FH7|, K|z, THEHSICE [ [sunlight D

[ |publish =TSt} [ |activate 2Hd3tA| 7| T
7 |findings TALHAS [J |inactivate H| 2t o} S5t
[ |phytochrome OE3E [ |quickly e

[ |control = MSICH SH| [ [slow down =X L}, &3
[ |dictate 2HOpAMA A SEEF [ |however ShX| 2k

[ |as well as ~ 0F OfL|2} [] |reversion 2|, gret

[ |in response to ~0f S5+ O |direct KEHA el 29
[ |switch HFECH [ [behaviour RIS

[ |genetic =FQl O [report E 50}

[ |proportional to ~0f H|&{|St= [ |based on ~0f 27 35}0]

[ |directly =3, SH=E [ [come into ~= {20}, ~7} E|C}
[ |mercury 2, &8 [ |be likely to ~2 A ¢t
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O |scientific nig=igsie] 1 |reference Ax olg
] [make plan A =lstet [ [benefit S| =, 7 ASHC
] [direct SESESRL ] |traditional HEHQ
[J [reach & 2okt O
[ |rapidly it = A| (]
[ |this is why 0| 0| ~%t O|7O|C} O
[J |so that ~Si A ~SIC} O]
[ |gene At (]
[ |express HSICH O
[ |resume XH7HSEEL, O3 M O]
[ |believe 2t O
[ |biological d=st5 0l O]
[] |co-opt MAStCH &0{S0|C} O]
[ |downtown ALY OJ
[ |indicator NE= % O
[J [species 5 O]
[J |daffodil F= M3} OJ
[ |considerable 2 Eot OJ
[ |dual 0|52 O
[ |role oAt O]
[ [in fact AHA 2 OJ
[ [dictate el OJ
[ |well-known 2 ezl OJ
[ [in fact AHA 2 OJ
[ |predict Of| &} St O
[J |soak Bact O]
[1|splash 7| RCH e EO{X| Lt O]
1 |rhyme 2t O
[ |likeliness A, 7t O]
[ |consequently 1 Ad, et O
[ |result in ~= 2} O]
[ |opposite ghCH O O]
[ |be likely to 1 Ant ~7} k| O
[ |culmination R nES O]
[1|be able to ~gh = QU O]
[ |precise S 2}t O]
[1 |outstanding O O
[ |collaborator Rl O]
[ |transfer =7|Ct O
1 |knowledge x| 4| O]
[ |apply X 335t O
[ |aspects of ~o| ™ O]
[1 |plant biology AlEdES O]
1 [work on ~0 =32 S0|C} O
[ |cause QI st O
[ [suffer from ~ERE AU O
[ |rise 575 o O




